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            (  + )2         
 

        ? 
.      32 = 3·3 = 9 

             (-2)2 = (-2)· (-2) = +4 
             (2 )2 = (2 )· (2 ) = 4 2 

             (-3 3)2 = (-3 3)· (-3 3) = 9 6 
 

  : 
 

     ? 
 

   

( ) ( ) ( )

( )

2

2 2

2 2

2 2 2

x y x y x y               (    )
            
                       
            2

,   x y 2

+ = + ⋅ +
= ⋅ + ⋅ + ⋅ + ⋅
= + + +
= + +

+ = + +

 

            



91 
 

          ,    
, . 

 
 
 
 

    ( + )2: 
 
 
 
 
 
 
 
 
 
 
 

,                                  
        : 2 2 2(I II) = I 2 I II + II± ± ⋅ ⋅  
 

 1.        : 

                  

( )
( )
( )

2 2 2 2

2 2 2 2

2 2 2 2 2

a) x 3 2 3 x 3 6x 9       

) 2 3 (2 ) 2 2 3 3 4 12x 9

) 5 2 (5 ) 2 (5 ) (2 ) (2 ) 25 20 x 4

+ = + ⋅ ⋅ + = + +

− = − ⋅ ⋅ + = − +

+ = − ⋅ ⋅ + = − +

 

`  
 : : . 51 / : 33 
 : : . 47 / :  354, 355 , , , 357 

 

2.  
 

 : : . 47 / :  361 , , , 362, 363 
 : : . 51 / : 34 

 

  : 
 :          . 
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  : _____ 
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 :   
 :  
 : , ,  

 :         . 
:   2.2.3 
 :       . 

 :          . 
 :        . 

 :              
 . 

 :    
 :     ,     ,   

   . 
 :       . 

 : ,  
: „   7.  “ – ; „    7.  “- 
,  

 
 : 

 
  : 

                       -                
            +                                   
      (  – )(  + )                   
                   2 – 2                 
 
 

 1.           : 
 

   

( ) ( )

( ) ( )

2 2

2 2

2 2

x y x y          (    )

                                        
                       

,   x y x y

+ ⋅ − = ⋅ − ⋅ + ⋅ − ⋅

= − + −
= −

+ ⋅ − = −

 

           
         : 2 2I -II = (I-II) (I+II)⋅  
 
 

 2.     , : 

                  

( ) ( )
( ) ( )
( ) ( )

2 2

2 2 2 2

2 2 2

2 2 2
2 2

) b a b a b

) 2 3b 2a 3b (2a) (3b) 4a 9b

) 4 1 4 1 (4 ) 1 16 1

1 1 1 a b) b 0,1c b 0,1c b (0,1c) 0,01c
2 2 2 4

+ ⋅ − = −

+ ⋅ − = − = −

− ⋅ + = − = −

+ ⋅ − = − = −
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 : : . 52 / : 35, 36 
 : : . 55 / :  426 
 : : . 46 / :  350, 351 
 : : . 54 / : 425 

 
  : 

 :       . 
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  : ____  _____ 
 :    

 :   /  
 :  
 : , ,  

 :          . 
:   2.2.3, 3.2.3 
 :          . 

 :            
      . 
 :        . 

 :              
 . 

 :    
 :     ,     ,   

   . 
 :       . 

 : ,  
: „   7.  “ – ; „    7.  “- 
,  

 
  : 

       . 
 

  : 
 : : . 48 / :365, 366 
 : : . 48, 49 / :368, 369, 370, 374, 375, 376, 377 
 : : . 48 / : 367  

 
            . 

 
  : 

 :       . 
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    + b     
 

  : _____ 
 :    

 :    
 :  
 : , ,  

 :            
. 

:   3.2.3 
 :           

    . 
 :        

  . 
 :        . 

 :              
 . 

 :   ,    
 :     ,     ,   

   . 
 :       . 

 : ,  
: „   7.  “ – ; „    7.  “- 
,  

 
  : 

: 
-   ? 
-       ?  
 

 1.    :  24, 108, 324. 
:   24 = 2 · 2 · 2 · 3 

                108 = 2 · 2 · 2 · 2 · 3 
                324 = 2 · 2 · 2 · 2 · 3 · 3 
 

 2.    :  4,   2 2 ,  ( b)3. 
:  4 =  ·  ·  ·  

                2 2 =  ·  ·  ·   
                ( b)3 = b · b · b 
  

 3.       :  6a3b3,  15xy2z4,  21x2yz2. 
: 6a3b3= 2·3·a·a· ·b·b·b 

                15xy2z4 = 3·5· · · ·z·z·z·z 
                21x2yz2 = 3·7· · · ·z·z 
 

  : 
   ?   ( )a b c a b a c⋅ ± = ⋅ ± ⋅  
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 4.   ,    : 
                  ) 2 2+3                     ) 6ab2 – 9ab3            ) -12x3y2z + 8xyz. 
 

:   ) 2 2+3  = 2· ·  + 3·  = · (2 +3)                   
                          ) 6ab2 – 9ab3 = 2·3·a·b·b - 3·3·a·b·b·b = 3 b2·( 2-3b) 
                ) -12x3y2z + 8xyz = -2·2·3· · · · · ·z + 2·2·2· · ·z = 4 z·(-3 2  + 2) 
 

 : : . 54 / : 37, 38 
 : . 50 / :386, 387 

 
 : : . 50 / : 391 

 
  : 

 :       . 
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       ( 2-b2 ) 
 

  : ____  
 :    

 :    
 :  
 : , ,  

 :         . 
:   3.2.3 
 :           . 

 :        . 
 :            
. 

 :              
 . 

 :    
 :     ,     ,   

   . 
 :       . 

 : ,  
: „   7.  “ – ; „    7.  “- 
,  

 
  : 

    . 2 2I -II = (I-II) (I+II)⋅  
  . 

 
  : 

 : : . 45, 46 / :339,... , 343, 348, 349 
 : : . 51 / : 397 
 : : . 54 / : 420, 421 

 
 : : . 54, 55 / : 425, 427  

 
  : 

 :       . 
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       ( 2+2 b+b2) 
 

  : ____ 
 :    

 :    
 :  
 : , ,  

 :         . 
:   3.2.3 
 :           . 

 :        . 
 :            
. 

 :              
 . 

 :    
 :     ,     ,   

   . 
 :       . 

 : ,  
: „   7.  “ – ; „    7.  “- 
,  

 
  : 

    . 2 2 2(I II) = I 2 I II + II± ± ⋅ ⋅  
  . 

 
  : 

 : : . 47, 48 / :356, 358, 359, 360, 364 
 : : . 54 / : 422, 423 

 
  : 

 :       . 
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 ax2+bx=0     x2- a =0 ( a 0≥ ) 

 
  : ____ 

 :    
 :    

 :  
 : , ,  

 :               
   . 

:   3.2.3 
 :             

  . 
 :         

   . 
 :            
. 

 :              
 . 

 :   ,  ,    
 :     ,     ,   

   . 
 :       . 

 : ,  
: „   7.  “ – ; „    7.  “- 
,  

 
  : 

    ,      . 
 

  : 
 : : . 52 / : 407  
 : : . 51 / : 395, 396  
 : : . 48 / : 366  

 
 

  : 
 

 :  
 : : . 52 / : 408 
 : : . 48 / : 365 
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:   3.2.3 
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  . 
 :         

   . 
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 . 

 :   ,  ,    
 :     ,     ,   

   . 
 :       . 

 : ,  
: „   7.  “ – ; „    7.  “- 
,  

 
  : 

    ,      . 
 

  : 
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9
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2

        = (         -        )(         + 4)
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3 2 2 2

2
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2

2
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 ) 3x y -6x          
 ) 10xz -  15x 20xa     
 ) 24ax - 21ax 27a x     
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 ) 16x - 24x 9

1 e)  5x 25
4

 ) 0,25     
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+ =
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+ =
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+ + =
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2 2 2 2

2 2 2 2
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47 -19 72 - 28 72 2 28
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) -1 0                       ) 4 -81 0                        ) 16 25 0         
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=
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